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ELECTIVE COURSE : COMMERCE 

ECO-12 : ELEMENTS OF AUDITING 
Time : 2 hours 	 Maximum Marks : 50 

Weightage 70% 

Note : Attempt any five questions. All questions carry equal 
marks. 

1. What is Interim Audit ? State its advantages and 
disadvantages. 	 2+4+4 

2. State the rules relating to the appointment of an 10 
auditor of a company. 

3. How would you audit the credit sales and their 10 
returns ? Explain. 

4. What is meant by test checking ? State its 
relevance to audit and the precautions an auditor 
should take in this regard. 	 2+2+6 

5. Explain the difference between the audit of a 10 
partnership firm and the audit of a limited 
company. 

6. What do you understand by 'true and fair' 6+4 
concept in the context of auditors report ? Explain 
the relevance of the words in our opinion. 
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7. 	How would you verify the following : 	4+3+3 

(a) Contingent liabilities. 

(b) Outstanding expenses. 

(c) Income received in advance. 

	

8. 	(a) What do you mean by cost audit ? And 2+2 
when is cost audit required ? 

(b) Who can conduct cost audit and how can 
cost auditoribe appointed ? Is cost audit an 
additional audit ? 	 2+2+2 

	

9. 	Write short notes on any two of the following : 5+5 
(a) Objectives of internal audit. 

(b) Vouching. 

(c) Appointment of an auditor. 

(d) Audit working papers. 
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ECO-12 	 4 


	Page 1
	Page 2
	Page 3
	Page 4

